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Abstract

The focus of this report is to use the Cabri 3D software to model ' Spherical-alike
Polyhedron ; and to build these real Polyhedrons and their star models . The definition
of " Spherical-alike Polyhedron ; is as follows:
Cut by the regular polyhedron, also must satisfy following aspects:
(1) Must be composed of “regular polygons” and “hexagons”.
(2) Vertical view of each “regular polygon”, and the shape all maintains invariably.
(3) Will have the most equi-distant edges.
For example, by cutting out of a dodecahedron, (Figure 1) will show a hexagon
surounded by two pentagons to be called Al. (Figure 2-4) is to be called in the order
ofA2, A3 and A5.
By cutting out of a decahedrons,we will get the result of (Figure 5-6). By cutting out of
a cube, then we get (Figure 7-8), ......And so on.
(Figure 9) is a real model of A2, (Figure 10) is a star model of A2.

Figure 1 Figure 2 Figure 3

Figure 5 Figure 7

Figure 9 Figure 10
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B p sin(108°)

[~ ])F tu= —cosa+%’ﬁ=(1—k)uo
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